2 BRI 47 I Al ol

[EHER] IR

3—1—1
( 3—1—1—1
( 3—1—1—1—4
18
19
20
21
22
23
24
25
26
27
(D) (
) 50(C ) 100C )
0.2( ) 0.2( ) 0.1¢ ) 0.1( ) 0.1 )
0 0 0 0 0
335 334 66 65 62
335 334 66 65 62
1 1,675 1 1,670 1 660 1 660 1 620 [1% 1% 1% 1% 1%
—> [ ] 100%= (  )5w+ ( )10%+ ( )40%+ 15%+ 15%+ 15%
H20 =7,392(  )/147,840(  )=5% =6,624(  )>=<0.01 66( )
H21 =7,392(  )/147,840(  )=5% =6,457(  )>=<0.01 65( )
H22 =7,392(  )/147,840(  )=5% =6,266(  )>=<0.01 62( )




5.0%

5.0%

5.0%

5.0%

5.0%

5.0%

5.0%

5.0%

5.0%

5.0%

18

17

19

20

21

22

23

24

25

26

27

18

19

20

21

22

23

24

25

26

27




